teachoo.com

SET -1
- FIS .
Series : TYM Code No. 3 1 / 1
T el hie Sl STH-YI&Te! o TE-TS
R 39T forg |
Roll No.

Candidates must write the Code on
the title page of the answer-book.

o HAT A= B A b 39 T-TF H Hfgd T8 12 % |

o Y- T Ife BT ShT 3T o T shig TR Bl BT S-Yfeh! % TE-T W i |

® U I HL A foh T TA-TF H 27 A3 |

o HUIT I HI I TG & B T U5, I T ShHTh a9 ford |

o T Y- I UG & fo1u 15 e o1 wwr femm mrar 2 ) e -va ot ferewor qatg @ 10.15 s
foram SITQT 1 10.15 S H 10.30 51 b BT shael YH-TF LU 3T 39 el & S0 9
TR -GfETehT T hIE I A& foera |

e Please check that this question paper contains 12 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.
e Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 am. to 10.30 a.m., the students will read the
question paper only and will.not write any answer on the answer-book during this period.
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(vi) M 37 % o7 GEIT3 @5 G1-51 37b] & F97 8 | 579 JTR T4 30 Il 5 a7 3 /
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General Instructions :

311

(i)  The question paper comprises two:Sections, A and B. You are to attempt both the
sections.

(ii)  All questions are compulsory.
(iii)  All questions of Section A and Section B are to be attempted separately.

(iv) There is an internal ehoice in three questions of three marks each, two questions of
five marks each in Section A and in one question of twe marks in Section B.

(v)  Question numbers 1 and 2 in Section A are one-mark questions. They are to be

answered in one word or in one sentence.

(vi) Question numbers 3 to § in Section A are two-marks questions. These are to be
answered in about 30 words each.

(vii) Question numbers 6 to 15 in Section A are three-marks questions. These are to be

answered in about 50 words each.

(viii) Question numbers 16 to 21 in Section A are five-marks questions. These are to be
answered in about 70 words each.

(ix) Question numbers 22 to 27 in Section B are based on practical skills. Each
question is a two-marks question. These are to be answered in brief.
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Section — A

1. TS % U SANT H ST T % o1 1ot HeX o WU oh1 HohtOT Fhe |ell aTel HeX o Wi §
AT T | F, el H =1 G 91 g ? 1

A Mendelian experiment consisted of breeding pea plants bearing violet flowers with

pea plants bearing white flowers. What will be the result in F, progeny ?

2. I Toegd T U g 9Tl el -wureao i | 1

Write the energy conversion that takes place in a hydropower plant.

3. ohIg AR <X ST HIg ToR[Eh 3T & 1 443 K T % T HIE STE A1Meh
Y’ o9 ® | Rftes X difeam a1g @ ot stfufran ogat & e e ek w2
bt 8 | X0, Y’ AT ‘2’ Pl UEAINY | Y’ IS @ oh! TEEtIes TR 61
Teftertor oft forfRae qer 3o |ig Hewyies 37 %) YiHe &1 oo i FHifu | 2

A compound ‘X’ on heating with excess conc. sulphuric acid at 443 K gives an
unsaturated compound ‘Y’. ‘X’ alsoreacts. with sodium metal to evolve a colourless
gas ‘Z’. Identify ‘X, ‘Y’ and ‘Z’. Write the equation of the chemical reaction of

formation of ‘Y’ and alse write the role of sulphuric acid in the reaction.

4.  (a) TG H YT AW Gt Teh & HAG! AT AUT Ueh HVIITET 6T AT fARGT | 2
(b) = few ¢ =i % varg 3@, R e faea s % w9 § T w2, ®
3Tt TR gfEereht WX EfiEreh 38 a 3TR b %1 AW fafay |
g | — | a | — | b | — | difsemr o sifem fam

(a) Name one gustatory receptor and one olfactory receptor present in human beings.

(b) Write a and b in the given flow chart of neuron through which information

travels as an electrical impulse.

Dendrite | —» | a | ——» | b | —— | End point of Neuron

31/1 3 [P.T.O.

teackhoo.com


https://www.teachoo.com/maths/
https://www.teachoo.com/maths/

teachoo.com

5. afg forelt Tiefte oo gro Sweh W T for i ot oft fefa <6 fore e & fom o
e i arest  Bren ST T 2, @1 78 v R T B R 7 T IO g %
fore mifeRa fertor s wfife | 2
If the image formed by a spherical mirror for all positions of the object placed in front

of it is always erect and diminished, what type of mirror is it ? Draw a labelled ray

diagram to support your answer.

6. Toasm (3ques) srfufsranati O AfTerRen] 1 dre o foTT a1 Q1 SsAT 370eT TehTsT 7T
Terega St Y STTaTvAIhdT BT B | T TehR <hi fermer arfirfsran, fom S, weprer 3t
forgga Sl <t S 1 STt @, < foTe Ueh-Teh eItk Tiehtn feTfiam | 3

Decomposition reactions require energy either in the form of heat or light or electricity

for breaking down the reactants. Write one equation each for decomposition reactions

where energy is supplied in the form of heat, light and electricity.

7. ol wEHett § qreR % & %8 e oot 39 2 mL HITSAT gT3gadTss ol foaerd
STAT TRT | AT <hl |THfY ol T ot T IS T ScHfoId g3 ToTeehl TRIetel i | qd
3G G & foerem & yanted feran men ford 718 & gorgel s9 | 89 areft sifwfsma @
TR TUT 39 79 % FE=A o fore ey gy | afe 7€t arg et yaet v & a7
fererem & afyfsran sy, |1 511 719 Icafste BRf 39 919 fafEu | 3

YAl

Tehlg oh! TaTfese 3T AT ST o (o1T IUAT feohT S aret fereft et T pH O 14 8 |
TH TEYT Sl TEATHT TUT 38k A o [o¢ TETE e Feitente faRau | s6es g 3wt
il ST |

2 mL of sodium hydroxide solution is added to a few pieces of granulated zinc metal
taken in a test tube. When the contents are warmed, a gas evolves which is bubbled
through a soap solution before testing. Write the equation of the chemical reaction
involved and the test to detect the gas. Name the gas which will be evolved when the
same metal reacts with dilute solution of a strong acid.

OR
The pH of a salt used to make tasty and crispy pakoras is 14. Identify the salt and

write a chemical equation for its formation. List its two uses.
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8. (a) IS % IATerhiv ek foreld o FaTeTsh R BT & ? 3
(b) Toreft w8 wqea ik 1 AT TR IHehT HtaAT G frad shrem T Ser % €9
T e feId Bid & | 38 Afireh | IUfRId Uehet 3Te=2i shl T fafau |

(a) Why are most carbon compounds poor conductors of electricity ?

(b)  Write the name and structure of a saturated compound in which the carbon
atoms are arranged in a ring. Give the number of single bonds present in this

compound.

9. fr=faftgd sr=a:ameh o gro arfad giai1 o1 A 9 Icieh o1 Tk T forfigu | 3
(a) IR (b)) I () IT=mH

Name the hormones secreted by the following endocrine glands and specify one

function of each :

(a) Thyroid (b) Pituitary (c) Pancreas

10. 3Tl S 3R <ifieh 579 % o9 T 3l foifae | 3Tclfies S R areft sreren
Afieh S S arett wfefis § § fores g Sita efisfis it Iawhfaar & swamsa
ATy TANT &1 Tehd & 7 3 ITL <higfee & fore s €ifre | 3
Write one main difference betieen asexual and sexual mode of reproduction. Which

species is likely to have comparatively better chances of survival — the one reproducing

asexually or the one reproducing sexually ? Give reason to justify your answer.

11. o1 & 399qq & I feafay | ue “ferdt Aream 1 f@er smaad-ies” h samean shifse
3 39 e qut fald § Terrst <hl =1el o i< o G4 hl e o foru s5een fafiau | 3

AT

ToRelt <18 <hT &I § A1 ARl B 7 $HeRT SI AR TARET | iS BT 40 cm Hiehd gl
I ITITT L TET 8 TUT I3 3T B —20 cm BIHH G I o8 ITAM L &1 8 | 39 qHI
ST sl SBT3 & fafa |
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State the laws of refraction of light. Explain the term ‘absolute refractive index of a
medium’ and write an expression to relate it with the speed of light in vacuum.

OR
What is meant by power of a lens ? Write its SI unit. A student uses a lens of focal

length 40 cm and another of —20 cm. Write the nature and power of each lens.

I8 uIise fob o Sferiershl, S0 g o1 gfetier 9 Q B, i 319 fop® Teh R SRS it
Top TS 1 e Wald (i) 13.5 Q, (ii) 6 Q I & ? 3
AV

(a) St w1 ared fem ferfa |

(b) I TR < FH & T 1 STHA 100 W; 220 V 3T G T 60 W; 220 V 7,
Tereft forgra w6 w1y arvesRe | A © | afg ferga smafd & Seear 220 V g,
A gl Soat g feregd w4 & fohat g oft St 8 7

Show how would you join three resistors, each of resistance 9 Q so that the

equivalent resistance of the combination is (i) 13.5 €, (i1) 6 Q2 ?

OR

(a) Write Joule’s law of heating.

(b) Two lamps, one rated 100 W; 220'V, and the other 60 W; 220 V, are connected
in parallel to electric mains supply: Find the current drawn by two bulbs from
the line, if the supply voltage is 220 V.

(a) Toreft =eten, fraeht smafa ar SEt 2, o1 wfy 9 et ot et s 2, 3Rt
A ST |

(b) oTqu forega <t =t ATeTeh qUT DT fRd T HaTCTH FI BT R 7 HRO GRAT |

(c) Torega aram gfern o wmET=IG: frsmqat s 3w @ foRa ST 8 W €T | 3

(a) List the factors on which the resistance of a conductor in the shape of a wire
depends.

(b) Why are metals good conductors of electricity whereas glass is a bad

conductor of electricity ? Give reason.

(c) Why are alloys commonly used in electrical heating devices ? Give reason.
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14. Tt oo = AT 4 Td-eid 991 § 98 SHER g1 T fooett § % o1 #E &
I e T 3R g ST 38 Hod § o Tl | $© A Wi S 81 7T 3R & 3R
ftheh ST 71 7T | Trereh wated 3 sifges o | oft st ferr o == <ht qen Tl O %
T 1 & WIS & {70 FaT | 3Fad: BT A < foregait 1 forsehe Fepre — ween 78 &
o6 1 21 20 39 A & IHeHT Y9 BH T i, AT GEU I8 fob Tt W X &m0 A

%1 3G~ Al | 3

(a) T HST BY I Hd & ITh T4 o g IUT IS |

(b) TSt AR R, 1 | HH RST Icq~ T o T 7 91 HLThd 8 ? al fog SN |

(c) 38 vET ¥ T weea 7 5 gt & fowar @ ot 1 fen & 398 4 < goat B

L GLEEIE

Students in a school listened to the news read in the morning assembly that the
mountain of garbage in Delhi, suddenly exploded and yarious vehicles got buried
under it. Several people were also injured and there was traffic jam all around. In the
brain storming session the teacher also discussed. this issue and asked the students to
find out a solution to the problem of garbage. Finally they arrived at two main points

— one is self management of the garbage we produce and the second is to generate

less garbage at individual levels
(a) Suggest two measures to manage the garbage we produce.

(b) As an individual, what can we do to generate the least garbage ? Give two

points.

(c) List two values the teacher instilled in his students in this episode.

15. &9 91 BT & ? &9 oS S HT S I18d & ? S §iel ol (i hid au fohd ofim
GUENSAT T S TG =T, qTfeh TAHT AT | S1ifd s+ @, 3961 3ot hifau | 3
What is a dam ? Why do we seek to build large dams ? While building large dams,

which three main problems should particularly be addressed to maintain peace among

local people ? Mention them.
3111 7 [P.T.O.
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16. (a) @fshaar Soft & weg Y oTg & BEMS IFASH U g G1g3T & rswgor 6 fafer
=T i T |
(b) W (A7) % TeHIZS ITEh Y HIoL 1 Fehyur fopd T fepa srar & 2 frsepefur
% fafy=1 <ol 6t =men TaEte T afed Hife | Hi S foega s
TRCSeRTUT ST ATHTThd 3TRE ST | 5
(a) Write the steps involved in the extraction of pure metals in the middle of the

activity series from their carbonate ores.

(b) How is copper extracted from its sulphide ore ? Explain the various steps
supported by chemical equations. Draw labelled diagram for the electrolytic

refining of copper.

17. (a) 3ngfe 3mad Greft S foshm SaUER, =eive a2 Auselis & IR JATEl %
T BN IR R | $7 <1 AT b1 Teh—Teh 3UeIfedl 37K e~ Ueh AT <hl Fht sH18T |
(b) 38 AMTek o1 A ferfa fora weawem 7 gwiiEfh feelt o it gy T 35
THTY] G 1 T H AT ey uaH 2 |
(c) 3y 3T M ferfan | 5
(a) The modern periodic table ha§-been evolved through the early attempts of

Dobereiner, Newland and.Mendeleev. List one advantage and one limitation of

all the three attempts.

(b) Name the scientist who first of all showed that atomic number of an element is a

more fundamental property than its atomic mass.

(c)  State Modern periodic law.

18. (a) %R foregl <1 3Ta¥dl 1 Seoi@ HIWT |
(b) IRR T ARSI - T B o 70 1 v ferfa |
(c) 3Tfete 3R e/ & i aTed o1 i fafan |
(d) Tt 3R IR o Teret o i ®is T SLa-Tcieh = fIfg | 5
LRI
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(@)
(b)
(©)

(a)
(b)
(©)
(d)

(a)

(b)
(©

(a)

(b)
(@)

(b)
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IeEsH hi TS ffaT |

I H IUTEAT AT e Tohep 1 T faiflaT |

A o Icdo 3 ol 3TRE WU 31 30 W Icqed a7 & 38 W T ATHh

HifSu -

(i) SIHTARHBAR |

(if) T st AforeRt @ SR gk § Tz G A B |

(iii) orem 77 =mH a% 13 YueiE war e |

Mention any two components of blood.

Trace the movement of oxygenated blood in the body.

Write the function of valves present in between atria and ventricles.

Write one structural difference between the composition of artery and veins.
OR

Define excretion.

Name the basic filtration unit present in the kidney.

Draw excretory system in human beings and label the following organs of

excretory system which perform following functions :
(i)  form urine.
(i1) s a long tube which ¢ollects urine from kidney.

(iii) store urine until'itis passed out.

e HIET S o b 19 U 7T Sedeh T <1 i feIfaT
() 3USEE, (i) IS, (i) THEE
AU Shl BT 3R S 1 G § 9uiq hifs | 5

Write the function of following parts in human female reproductive system :
(i) Ovary (i) Oviduct  (iii) Uterus
Describe in brief the structure and function of placenta.
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(@)

(b)

(2)

(b)

(2)

(b)

(2)

(b)

(@)
(b)
(c)

(a)
(b)
(©)
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I BT T 3 m gl TR e wamvg W o 31&mi 1 ¥ 21 <@ T | 98 B
4 gfee-aw @ difed 8 38em ™ faifau | 30 g % wwfaa wro fafaw 31k seeh
gened < foftr < s hifse |

R 1 fenfenma € 7 =men Hifvw | 5
FreraT

T 43 % 1 fqu 7T g v 1 % fofa

() gaet, (i) aitaTieRT,  (iii) fReef oim,  (iv) veamdft ufmt

A G WA R NG BT @ 7 R Shig STARETl 39 aitereAT S e

FrgHT TR ot S Tl B 7 379 I <hl e o fore st i |

A student is unable to see clearly the words written on the black board placed at
a distance of approximately 3 m from him. Name the defect of vision the boy is
suffering from. State the possible causes of this defeet and explain the method
of correcting it.
Why do stars twinkle ? Explain.

OR
Write the function of each of the following parts of human eye :
(i) Cornea (ii) Iris (1i1) » Crystalline lens (iv) Ciliary muscles
Why does the sun appear reddish early in the morning ? Will this phenomenon

be observed by an astronaut on the Moon ? Give reason to justify your answer.

RATH o1 a9 g% 1w feafan |
fergga mvex o1 SRk fagr=a fafa |
fergga Wiex = it feu e v <1 e ferfa |
(i) SR (i)W (iii) fawe som 5
State Fleming’s left hand rule.
Write the principle of working of an electric motor.
Explain the function of the following parts of an electric motor.
(i) Armature (ii) Brushes (iii) Split ring
10
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Section — B

22. Tt ®= 3 @ wwEAfo™l A 3R B # faU U 3TEE Gothe U1 HIW Tothe & A
forerrt 5 Ygffem u1g % B gohe STo | TR o g8 WM § 384 C 3R D Tgdfer o
AT foT T YgfufEm dethe 3Tt BT Hothe o el faetal § A o1g % ghs
ool | Teret Freer fope arferdll # 3@ o 1 T § uftads fewrs @ 2 59 T % S1ER
W Iooi@ IR 1 =i &t w1 Hariferen rffspamsfiar @ i et | 2

A student added few pieces of aluminium metal to two test tubes A and B containing
aqueous solutions of iron sulphate and copper sulphate. In the second part of her
experiment, she added iron metal to another test tubes C and D containing aqueous
solutions of aluminium sulphate and copper sulphate.

In which test tube or test tubes will she observe colour change ? On the basis of this

experiment, state which one is the most reactive metal and-why.

23. o1 Sequr R Sran @S9 ford uwaeelt # fou o Sfem weivse % faferm o aifeam
Hothe Toreram firetren simar 2 7 afiifer qamafes stfufsran 1 qamtye geteor aur 59
eRUT 1 gIH STl SRR o vehr w51 = ferfae | 2

What is observed when a solution of sodium sulphate is added to a solution of barium
chloride taken in a test tube ? Write equation for the chemical reaction involved and

name the type of reaction in this case.

24. fordt aeht o fesereh H T <1 N&TuT i o Tl STEATT STRII IR Rt <hl TfshaT < <Ol
1 =it ST | 2

List the steps of preparation of temporary mount of a leaf peel to observe stomata.

25.  3THiE o S <ht Tkt o1 919 fARaw | $5eh ST shi Tfshan o fafyr=T =or 6t 3fea v
# fafa hifsr | 2
I
B3 B A T Gopord gRT i1k A o fafir=y <o <t wormrft wirse 1 gereef gra

&0 L TET 7 | I8 W3S H ST S Y&A07 LT 8 3 3@ Gigeht (FHaR) Sy |
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Name the process by which an amoeba reproduces. Draw the various stages of its
reproduction in a proper sequence.

OR
A student is viewing under a microscope a permanent slide showing various stages
of asexual reproduction by budding in yeast. Draw diagrams of what he observes.

(in proper sequence)

26. 4.0 cm 4TS W HIS o/ 20 cm ®IHE U fFEl 3T W F THREE F5 ‘0”&
30 cm g W R 8 | o ATt wffers i feufa o Aes [ e % R s
Hifaw | 39 3T | eI g ‘O’ AT Y& Bihd F’ 3ifeha hifsre | wfafars 6
Sarg 3R forar 6t amg o1 o 1uTa ot Fra <hifTe | 2

An object of height 4.0 cm is placed at a distance of 30 cm from the optical centre

‘O’ of a convex lens of focal length 20 cm. Draw a ray diagram to find the position
and size of the image formed. Mark optical centre ‘O’ and principal focus ‘F’ on the

diagram. Also find the approximate ratio of size of the image to the size of the object.

27.  Toreft wfererss, foraent wfedier (R) 2, & vanfea g gm (1) 31 35 & < i aegedt
fover (V) % o= = few  srgEm E

V (diee) 05|10 | 15| 20025 | 30| 40|50

I(T®RR) [ 01|02 |03 04| 05]|06]|08] 1.0
T (1) 3T fervam=t (V) & &9 1% @ifee 31 gfatiess 1 i (R) 1 i | 2

The values of current (I) flowing through a given resistor of resistance (R), for

the corresponding values of potential difference (V) across the resistor are as given
below :

V (volts) 05]10 | 15]20 |25 30|40 5.0
I (amperes) | 0.1 | 02 | 0.3 | 04 | 05 | 0.6 | 0.8 | 1.0
Plot a graph between current (I) and potential difference (V) and determine the

resistance (R) of the resistor.
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SET -2
- FIS .
Series : TYM Code No. 3 1 / 2
T el hie Sl STH-YI&Te! o TE-TS
R 39T forg |
Roll No.

Candidates must write the Code on
the title page of the answer-book.

o HAT A= B A b 39 T-TF H Hfgd T8 12 % |

o Y- T Ife BT ShT 3T o T shig TR Bl BT S-Yfeh! % TE-T W i |

® U I HL A foh T TA-TF H 27 A3 |

o HUIT I HI I TG & B T U5, I T ShHTh a9 ford |

o T Y- I UG & fo1u 15 e o1 wwr femm mrar 2 ) e -va ot ferewor qatg @ 10.15 s
foram SITQT 1 10.15 S H 10.30 51 b BT shael YH-TF LU 3T 39 el & S0 9
TR -GfETehT T hIE I A& foera |

e Please check that this question paper contains 12 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.
e Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 am. to 10.30 a.m., the students will read the
question paper only and will.not write any answer on the answer-book during this period.

IENIC

SCIENCE
RefRa a7 - 3 @2 3erban 37 - 80
Time allowed : 3 hours Maximum Marks : 80
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(i) 39 Y- F g YT, 97T 37 IR 97T &, 7 qier 797 8 | 3771 @1 9 @ 5 % I
for@? & 1

(ii) G g AT & |

(iii) 3TTIHT T 37 3 91T & 3 G} 751 3 TR GUFH-T% YT % TR R 7@ 8

(iv) TET 97T 37 & T b & diT Io71, TieT 3% 3 g Io71 3K 977 7 7 G 3% & T G F
STTRE 77 1R T 8 |

(v) M 37 & J9 &I 1 37K 2 Th-T 37 & J97 8 | 599 I T Ieg 7] U 17
G 1

(vi) M 37 % o7 GEIT3 @5 G1-51 37b] & F97 8 | 579 JTR T4 30 Il 5 a7 3 /

(vii) 7T 3T % Fo7T G&IT6 & 15 AT-T7 3751 & 97 8 | 579 IR TTHT50 5 5 37 8 |/

(viii) 5T 37 3 97 G116 & 21 Tra-qie 371 3 F97 8 | 579 IR 47 70 51 7 57 8 1

(ix) 7T & & 97 G&IT 22 T 27 FI1THE HITTT T TR §-G1 3] & J97 & | 578 I
GrRAA &

General Instructions :

3172

(i)  The question paper comprises two:Sections, A and B. You are to attempt both the
sections.

(ii)  All questions are compulsory.
(iii)  All questions of Section A and Section B are to be attempted separately.

(iv) There is an internal ehoice in three questions of three marks each, two questions of
five marks each in Section A and in one question of twe marks in Section B.

(v)  Question numbers 1 and 2 in Section A are one-mark questions. They are to be

answered in one word or in one sentence.

(vi) Question numbers 3 to § in Section A are two-marks questions. These are to be
answered in about 30 words each.

(vii) Question numbers 6 to 15 in Section A are three-marks questions. These are to be

answered in about 50 words each.

(viii) Question numbers 16 to 21 in Section A are five-marks questions. These are to be
answered in about 70 words each.

(ix) Question numbers 22 to 27 in Section B are based on practical skills. Each
question is a two-marks question. These are to be answered in brief.
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Section — A

1. S foregd g9 ° B9 Tt it -&ar=aen i | 1

Write the energy conversion that takes place in a hydropower plant.

2. TS o U TN H S T o oA} STet HeX o HTell i Hehtll The el aTet Het o el §
KT TN | | Fafd § w1 gioms S g1 ¢ 1

A Mendelian experiment consisted of breeding pea plants bearing violet flowers with

pea plants bearing white flowers. What will be the result in F; progeny ?

3. (a) WGl UTC S dTel Ush T Tac! UTal a7 Tsh HTURTa ol 918 foIRay | 2

(b) = feu U =R < yaTE I, fEH g=a foea AT 6 €9 § T ST 8, 6
3191 IR gfeTeRT T Eiee 39Y a 311 b 1™ feTRav |

g | — | a | — | bl | dfmem & sifam fam

(a) Name one gustatory receptor and one olfactory receptor present in human beings.

(b) Write a and b in the given flow chart of neuron through which information

travels as an electricalimpulse.

Dendrite | ——> | a | ——> | b | —— | End point of Neuron

4. 3fe foret el gdor R 3&eh wmA W@ fore Y fomeft oft ferfa & foe wiea & fomar 1
e 3R S § Bl yfdfas sa1 7, 1 98 ¢dv1 fohl TR 17 ? 3104 I HI gfee
forw ammifera fortor 3t Eifew | 2
If the image formed by a spherical mirror for all positions of the object placed in front

of it is always erect and diminished, what type of mirror is it ? Draw a labelled ray

diagram to support your answer.
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5. ohig AR <X ST |5 ToR[Eh 370 o 1Y 443 K T ITH T T HIE STE AR
Y’ ST B | Aifies X° Gifew a1g g ot sttfhen e @ e ek i ez
fperdt 8 | X, Y’ @1 ‘2’ I 9gEIT | Y’ e B ot qEmte il
TteRtoT oft ferfiae qer sud dig Tewyfieh 31va <l yifieht o1 Seorg oft i | 2

A compound ‘X’ on heating with excess conc. sulphuric acid at 443 K gives an
unsaturated compound Y’. ‘X’ also reacts with sodium metal to evolve a colourless
gas ‘Z’. Identify ‘X’, Y’ and ‘Z’. Write the equation of the chemical reaction of

formation of ‘Y’ and also write the role of sulphuric acid in the reaction.

6. TR o Iqdqq o a9 fIfau | ue “ferdt aeem =1 et smad-ies” ht s Shifse
3R 38 ue a1 et d Tenrst hl =1et & o= & G4 1 e o foie saeieh fofau | 3

HYET

foreft i@ <hl & & I TR 7 7 36T ST A [REY | HIE BT 40 cm HIehE gl
T ITATT HL TG & TUT I3 3177 BT 20 conWIhe Gil 31 o ITATT L &1 8 | 39 SHl
et <ht wepfer 31w ferfiae |

State the laws of refraction of light..Explain the term ‘absolute refractive index of a

medium’ and write an expression to relate it with the speed of light in vacuum.
OR

What is meant by power of adens ? Write its SI unit. A student uses a lens of focal

length 40 cm and another of —20 cm. Write the nature and power of each lens.

7. AR 9 3R s S @ o9 Tk 3= faifgu | 3eifies S o ol steran
<AfiTeh S A At Sfiels 5 & foheeh g i wfieiis ot STReifonT o sTvetehd
Jfereh w8 Tehd & 7 319 IR I gfee % forw sHmwon <ifre | 3

Write one main difference between asexual and sexual mode of reproduction. Which
species is likely to have comparatively better chances of survival — the one reproducing

asexually or the one reproducing sexually ? Give reason to justify your answer.

3172 4
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8. I euisy foh i wicizreni, fSH ek w1 Wieie 9 Q B, =1 319 fohe Yo GG il
Tep TIIoH =T g I (i) 13.5 Q, (ii) 6 Q I & ? 3
HAYT

(a) S W1 ared fem ferfa |
(b) @ TR o H & T 1 STHA 100 W; 220 V 3T G &1 60 W; 220 V 3,
fopeft forera o < @y wwdshn § RNfor 8 | afe farega smafd < dieedr 220 v 7,
@ S et gry fargd U9 | fohaet e ft St 2 7
Show how would you join three resistors, each of resistance 9 Q so that the
equivalent resistance of the combination is (i) 13.5 Q, (i1)) 6 Q ?
OR
(a) Write Joule’s law of heating.

(b) Two lamps, one rated 100 W; 220 V, and the other 60 W; 220 V, are connected
in parallel to electric mains supply. Find the current drawn by two bulbs from
the line, if the supply voltage is 220 V.

9. Ti=fafigd sra-areh it gro arfad g1 1 9 T I 61 Uk g foifigu | 3
(@) LA™ (b) IINIR™ (c) IF=TE
Name the hormones secreted by the following endecrine glands and specify one
function of each :
(a) Thyroid (b) Pituitary (c) Pancreas

10. foret TEmelt & gHeR fSie % % ghe dRUSad 2 mL Hifean gegiass &I faerm
ST T | TR <hl | < T St WX ehis 18 3cafoid gs foreeht e e | qd
3T WA % o | yarfza e = S f9 % gerget 59 | gF et sl &
TSR G 39 A % HYEN < foe e fafa | 3fe 7@ a1q et yeet st & 7
fererem & afrfsran s, @ @G Icafsid 2 3ueh 99 fefEu | 3

XIUE]

Tehig! ol TTfeSe 3 WEAT s & foIu 3T fopw S et fopeft Siaror T pH A 14 B |
TH TGV I UEATHT qeT 39k o % fer vremates weftenter ferRau | gaes g1 3w
el ST |

2 mL of sodium hydroxide solution is added to a few pieces of granulated zinc metal
taken in a test tube. When the contents are warmed, a gas evolves which is bubbled
through a soap solution before testing. Write the equation of the chemical reaction

involved and the test to detect the gas. Name the gas which will be evolved when the
same metal reacts with dilute solution of a strong acid.

OR

The pH of a salt used to make tasty and crispy pakoras is 14. Identify the salt and
write a chemical equation for its formation. List its two uses.
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12.

13.
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(@)

(b)

(a)

(b)

teachoo.com

SHTe % 3Tferehis AMfiTeh foreld & FaTeih M BT E 7 3

Toreft U Hqw ek 1 AW SR 3Hht FtE1 ST fw hTee T 99 o §9
T e feId Bid & | 39 Aifireh o IUFRId Tshel 3TTe=e shl g fafau |

Why are most carbon compounds poor conductors of electricity ?

Write the name and structure of a saturated compound in which the carbon
atoms are arranged in a ring. Give the number of single bonds present in this

compound.

o (3taere) stfufsransti 4 srfirenment i died & for 31 af ST 3720 JenTer 37T

Torgga ot <A1 STTarwrehd BIdt 2 | Wi SR < T fufsaen, frmw s, s afk
forega St <t 3ttt <6t STt 2, % fore ush - v s afien fafaw | 3

Decomposition reactions require energy either in the form of heat or light or electricity

for breaking down the reactants. Write one equation each for decomposition reactions

where energy is supplied in.the form of heat, light and electricity.

Y R BT 8 ? B9 9 oY ] 9911 I8d & 7 9 i ol Ao o g9 foed

A3 hl S TGHAT 1R, dTfeh AR T | 1T s @, I7ehT Iooid I | 3

What is a dam ? Why do we seek to build large dams ? While building large dams,

which three main problems should particularly be addressed to maintain peace among

local people ? Mention them.
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14. Tt oo = AT 4 Td-eid 991 § 98 SHER g1 T fooett § % o1 #E &
IS ® AT 3R 63 MieAT 39 Aetsl § o Wi | T o off St 2 T 3 E 3R
Sfthes ST 1 T | Frerh welew A Sifge o § oft st fowe ==t 6 qen s @ g2 A
T %1 & WISH o ¢ a1 | 3T=1a: BT A &1 oGl 1 Tk HhreT — 98l 98 &

1o ST ST B 39~ A & IHeHT Y6 1 T i, TUT GEU g foh TSl &R T &H A

%1 3G~ | 3

(a) T %ST 893U~ HAd 3 ITh YU % ¢ IUTT TS |

(b) oo A R, 8 & FH FeT 34— Hid o FoT¢ 20 71 K wehd & 7 A foig v |

(c) 38 wET § feres weted 3 o et & forwer o ol w1 fe € 390 | < gt
ECIERIE

Students in a school listened to the news read in the morning assembly that the

mountain of garbage in Delhi, suddenly exploded and various vehicles got buried
under it. Several people were also injured and there was traffic jam all around. In the
brain storming session the teacher also discussed this issue and asked the students to
find out a solution to the problem of garbage. Finally they arrived at two main points
— one is self management of the garbage we produce and the second is to generate
less garbage at individual level.

(a) Suggest two measures to manage the garbage we produce.

(b) As an individual, what can weé do to generate the least garbage ? Give two

points.

(c) List two values the teacher instilled in his students in this episode.

15. (a) forelt =cren, foraeht smepfa ar S 2, w1 wiate fm st w fft st 2, et
e ST |
(b) oTqu forega it 1=t =TeTsh qeT i A 1 FaTeTeh FT AT 8 ? HROT T |
(c) Terggd A gferat & wmT=ra: g st 1 Su I fohe ST 7 ¢ shrwr i | 3

(a) List the factors on which the resistance of a conductor in the shape of a wire

depends.
(b) Why are metals good conductors of electricity whereas glass is a bad
conductor of electricity ? Give reason.

(c) Why are alloys commonly used in electrical heating devices ? Give reason.
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16. (a) TATHT 1 9 &% fem fafg |
(b) Terega Wt o1 SRl firgr fetfEm |
(c) forgd uiex 3 = few mw it =1 sl ferfae |
(i) SR (i) S (i) fove s 5
(a) State Fleming’s left hand rule.
(b)  Write the principle of working of an electric motor.

(c) Explain the function of the following parts of an electric motor.

(i) Armature (ii) Brushes (iii) Split ring

17. (a) Td IS S O o <9 T TTT Ieieh 9T <1 Y feafgu
(i) S, (i) FeATEl,  (iii) WA
(b) AT sh HTEAT 371 T 1 Hayg § Ui sHIfT | 5
(a)  Write the function of following parts ifithuman female reproductive system :

(i) Ovary (i) Oviduct  (ii) Uterus

(b) Describe in brief the structure and function of placenta.

18. (a) wfsharar Svft o AT H1g & HIaHe TR F Ig GTgaii & frshuvr i fafer
Tl ! fefa |
(b) W (AT % TCHITS ITEh Y B 1 Tsepyur fop Tepr femam srar 2 2 Frepefur
% fafimr =t <61 =amen Tt wefeon afgd i | S & faga seeh
TRSehTOT T AR 3T i | 5
(a) Write the steps involved in the extraction of pure metals in the middle of the
activity series from their carbonate ores.

(b) How is copper extracted from its sulphide ore ? Explain the various steps
supported by chemical equations. Draw labelled diagram for the electrolytic

refining of copper.
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(@)
(b)
(©)
(d)

(a)
(b)
(©)

(2)
(b)
(©)
(d)
(a)
(b)
(©)

(a)

(b)

(©)
(@

(b)
©

teachoo.com

FfT o Tl 1 3Tl o1 3ot HIfT |

IR H STl S - S &R o T o1 9 faifau |

Jfere 3 e o st dted 1 % fafE |

gt 3T TIRT o Terel o s ig Ush SLaqTcHe A= Il | 5
SreEr

Il <t aieTT ferfau |

g 1 IR YR =i Teheh o1 AT feIRa |

AHE & 3ESH 9 1 ARG EIfEU 3R 39 W IHSH a3 o 39 9HT T TTHH

Hifrm -

(i) S AR HETR |

(if) T st AforeRt @ SR gk © T T et B |

(iii) T T3 T T T YUeTiE Tt g |

Mention any two components of blood.

Trace the movement of oxygenated blood in the body.

Write the function of valves present in between atria‘and ventricles.

Write one structural difference between the compesition of artery and veins.
OR

Define excretion.

Name the basic filtration unit present in the kidney.

Draw excretory system in human beings and label the following organs of
excretory system which perform following functions :

(i) form urine.
(i) is a long tube,which eolleets urine from kidney.
(iii) store urine until it is passed out.

3nyfTes JATad Roft T It SRR, =Ieive quT HuSelis < SRives Sl %
ST B AT 8 | $9 <A1 SRITET <hl Teh—TUsh IUCTfed 3T Teh—Ush HIgT 1 F SHIET |

34 IAgteh o1 7 fetfae frem wdwem o5 gurtan fop foret aea 1 o] T 3u
TTHTY] ZEIHH h1 il H 3ATereh ST Tored B |

3yl 3tmad e ferfu | 5

The modern periodic table has been evolved through the early attempts of
Dobereiner, Newland and Mendeleev. List one advantage and one limitation of
all the three attempts.

Name the scientist who first of all showed that atomic number of an element is a
more fundamental property than its atomic mass.

State Modern periodic law.

9 [P.T.O.
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21. (a) <HIS BT TN 3 m gt W R vamHuE W fore sveri b T e <@ T | 9 BT

o gfee-<m @ difed 8 3@t 7m ferRaw | 5@ < < Ffaa R fafgu 3k saes
Tees <6t fafty 6t smen Hifvw |

(b) R o1 femfenmd & 7 e i | 5

FreraT

(@) WWE S % A= feu Tu g vt w1 % fafau
() gaet, (i) aitaTieRT,  (iii) fReef oim,  (iv) veamdft ufmt

(b) AT G AT I TG BT 8 7 FT hIg SANGATT 36 IIEeT S ge
FrgHT TR ot S Tl B 7 379 I <hl e o fore st i |

(a) A student is unable to see clearly the words written on the black board placed at
a distance of approximately 3 m from him. Name the defect of vision the boy is
suffering from. State the possible causes of this defeet and explain the method
of correcting it.

(b) Why do stars twinkle ? Explain.

OR
(a)  Write the function of each of the following parts of human eye :
(i) Cornea (ii) Iris (1i1) » Crystalline lens (iv) Ciliary muscles
(b) Why does the sun appear reddish early in the morning ? Will this phenomenon

be observed by an astronaut on the Moon ? Give reason to justify your answer.

3172 10
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Section — B

22. 3TN o S <Rl TRAT o1 A FTRET | 38k S shi WSk o ol =ont st 3fed a
ERCIECEIIE 2
YT
1S BT A | Yo g AR ST o Tl =ort sht Tmeft witgs 1 gedestt g
TEA01 L TET & | IF TATSS T ST HD A0 HLT & I 0@ Giereht (shEaR) guIiEy |

Name the process by which an amoeba reproduces. Draw the various stages of its

reproduction in a proper sequence.
OR

A student is viewing under a microscope a permanent slide showing various stages
of asexual reproduction by budding in yeast. Draw diagrgams of what he observes.

(in proper sequence)

23. 4.0 cm 4T 1 HE fam@ 20 cm wiwE gl F/ fordfi Saa <@ % g B cO” H
30 em gt W fRud ® | S et wffersl s fRfa i T 3@ e % feor sm@
it | 38 M@ o T &g 0 921 5= ®iwg ‘F° 3ifeha Hifvy | wfafems 6
34T 3R forar Y ams 1 STEE U i F1a i | 2

An object of height 4.0 em. is placed at a distance of 30 cm from the optical centre
‘O’ of a convex lens of focal length 20 cm. Draw a ray diagram to find the position
and size of the image formed. Mark optical centre ‘O’ and principal focus ‘F’ on the

diagram. Also find the approximate ratio of size of the image to the size of the object.

24, et B 9 & WAl A 3R B # foft M0 3R Tethe TUT HIR Tothe & Tehd
foreret  vgfufrm o1 & 39 7he T | TN % gER W H 384 C 3R D Ao |
A 1T T Tgfufam Tothe 3T SR Hothe & Iofla faetai § 3R U1 % 7he
Tt | Topm 3reran fopa wgaferant @ 3@ o= 61 T § ufteda fe@ms S ? 3| T &% an
W Iooi@ IR Y i &t e Hariferen rfrfspamsfiar @ s i | 2

3172 11 [P.T.O.

teackhoo.com


https://www.teachoo.com/maths/
https://www.teachoo.com/maths/

teachoo.com

A student added few pieces of aluminium metal to two test tubes A and B containing
aqueous solutions of iron sulphate and copper sulphate. In the second part of her
experiment, she added iron metal to another test tubes C and D containing aqueous
solutions of aluminium sulphate and copper sulphate.

In which test tube or test tubes will she observe colour change ? On the basis of this

experiment, state which one is the most reactive metal and why.

25. o1 Yerur foman ST @ o9 fordt qr@aet ® fou e sfem seiiise & fafema @ wifsam
Hothe forerad foretrn strar @ 2 wffrfara vamafaes siffsran s qemafaes gefteor qen 5q
TRTUT § B STl STITsHAT 3 TehT kT 10 TOTRIT | 2

What is observed when a solution of sodium sulphate is added to a solution of barium
chloride taken in a test tube ? Write equation for the chemical reaction involved and

name the type of reaction in this case.

26. Toreht fetierss, fraent wfadie (R) 2, & wafed faega umr (1) @it 396 il & s qegedt
faver=r (V) & o = fgu g s @ -

V (diee) 05| 1.0 | 1.5 |20 | 25 (230940 | 5.0

1(EferR) | 01 | 02|03 |04 0506 08] 1.0
G (1) 3R e (V) & st= o1 @ifae SR gfoiaes &1 Ifie (R) F1d i | 2

The values of current (I) flowing through a given resistor of resistance (R), for

the corresponding values eof potential difference (V) across the resistor are as given
below :

V (volts) 05|10 | 15]20]| 25| 30|40/ 50
I (amperes) | 0.1 | 02 | 03 | 04 | 05 | 0.6 | 0.8 | 1.0
Plot a graph between current (I) and potential difference (V) and determine the

resistance (R) of the resistor.

27.  fordf a=it & fescten H Tt o1 eT01 ohid o foTU STERN 3T QIR s <hY Ufshart s <o
! =i ST | 2

List the steps of preparation of temporary mount of a leaf peel to observe stomata.
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SET -3
- FIS .
Series : TYM Code No. 3 1 / 3
T el hie Sl STH-YI&Te! o TE-TS
R 39T forg |
Roll No.

Candidates must write the Code on
the title page of the answer-book.

o HAT A= B A b 39 T-TF H Hfgd T8 12 % |

o Y- T Ife BT ShT 3T o T shig TR Bl BT S-Yfeh! % TE-T W i |

® U I HL A foh T TA-TF H 27 A3 |

o HUIT I HI I TG & B T U5, I T ShHTh a9 ford |

o T Y- I UG & fo1u 15 e o1 wwr femm mrar 2 ) e -va ot ferewor qatg @ 10.15 s
foram SITQT 1 10.15 S H 10.30 51 b BT shael YH-TF LU 3T 39 el & S0 9
TR -GfETehT T hIE I A& foera |

e Please check that this question paper contains 12 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.
e Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 am. to 10.30 a.m., the students will read the
question paper only and will.not write any answer on the answer-book during this period.

fogm

SCIENCE
Reia g - 3 g2 EHaT 3% - 80
Time allowed : 3 hours Maximum Marks : 80
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(i) 39 Y- F g YT, 97T 37 IR 97T &, 7 qier 797 8 | 3771 @1 9 @ 5 % I
for@? & 1

(ii) G g AT & |

(iii) 3TTIHT T 37 3 91T & 3 G} 751 3 TR GUFH-T% YT % TR R 7@ 8

(iv) TET 97T 37 & T b & diT Io71, TieT 3% 3 g Io71 3K 977 7 7 G 3% & T G F
STTRE 77 1R T 8 |

(v) M 37 & J9 &I 1 37K 2 Th-T 37 & J97 8 | 599 I T Ieg 7] U 17
G 1

(vi) M 37 % o7 GEIT3 @5 G1-51 37b] & F97 8 | 579 JTR T4 30 Il 5 a7 3 /

(vii) 7T 3T % Fo7T G&IT6 & 15 AT-T7 3751 & 97 8 | 579 IR TTHT50 5 5 37 8 |/

(viii) 5T 37 3 97 G116 & 21 Tra-qie 371 3 F97 8 | 579 IR 47 70 51 7 57 8 1

(ix) 7T & & 97 G&IT 22 T 27 FI1THE HITTT T TR §-G1 3] & J97 & | 578 I
GrRAA &

General Instructions :

31/3

(i)  The question paper comprises two:Sections, A and B. You are to attempt both the
sections.

(ii)  All questions are compulsory.
(iii)  All questions of Section A and Section B are to be attempted separately.

(iv) There is an internal ehoice in three questions of three marks each, two questions of
five marks each in Section A and in one question of twe marks in Section B.

(v)  Question numbers 1 and 2 in Section A are one-mark questions. They are to be

answered in one word or in one sentence.

(vi) Question numbers 3 to § in Section A are two-marks questions. These are to be
answered in about 30 words each.

(vii) Question numbers 6 to 15 in Section A are three-marks questions. These are to be

answered in about 50 words each.

(viii) Question numbers 16 to 21 in Section A are five-marks questions. These are to be
answered in about 70 words each.

(ix) Question numbers 22 to 27 in Section B are based on practical skills. Each
question is a two-marks question. These are to be answered in brief.
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Section — A

1. TS o Ueh SN H ST U1 o 1 STcl HeX oh UTe ol Hehi0] Fhg el dTet Het o Wi §
AT T | F, A H 91 GO ST g ? 1

A Mendelian experiment consisted of breeding pea plants bearing violet flowers with

pea plants bearing white flowers. What will be the result in F, progeny ?

2. ot foregd T 0 B Aot St -wuTar ferfian | 1

Write the energy conversion that takes place in a hydropower plant.

3. afe foreh el gdor g sae o @ forar <Y fomelt oft ftfer 3 fore we & o ot
Hiem 37 aTEs | Bl Tfdfers s=am 2, 1 I8 v fFhe WehR 1 & 7 310 ST o gfee
forw Amifena fortor @ @ifem | 2
If the image formed by a spherical mirror for all positions of the object placed in front

of it is always erect and diminished, what type of mirror is it ? Draw a labelled ray

diagram to support your answer:

4. g AR X T A5 TorIie 377 o WY 443 K T T T WIS 315 Afieh
Y’ ST B | Aifies X° wifew a1g g ot srifhen e & feE e il ez
et 8 | X, Y’ AT 27 W GGAIE | Y I g hl TRt Al
Tefreter ot ferRae qen saw oTg TewIfteh 31 < fieht o1 Ioorg Ht I | 2
A compound ‘X’ on heating with excess conc. sulphuric acid at 443 K gives an
unsaturated compound ‘Y’. ‘X’ also reacts with sodium metal to evolve a colourless

gas ‘Z’. Identify ‘X’, Y’ and ‘Z’. Write the equation of the chemical reaction of

formation of ‘Y’ and also write the role of sulphuric acid in the reaction.
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(b)

(a)
(b)
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AT § 9T S STt Ush & God! UTe! qT Teh HTUTe] okl 4 fefigy | 2
= feu 7t =i % veTE M@, e Yo foRd 3tmen % &9 1 T wd |, H
3191 I gfcret TR iRt 39 a 3R b 1 W fofew |

gﬁq;[—>a—>b—>?iﬁ7=b‘["=m3iﬁ'qﬁm

Name one gustatory receptor and one olfactory receptor present in human beings.

Write a and b in the given flow chart of neuron through which information
travels as an electrical impulse.

Dendrite | — | a | —— | b | —— | End point of Neuron

Ig a3zt fob i gfaterest, s vas &1 afetier 9 Q R, 1 319 form wepr wifora i
Top TIo o1 g I (i) 13.5 Q, (ii) 6 Q I & ? 3

(a)
(b)

37T
[t st AT frm fafiau |

31 forgra oivr T8 & T 1 SFgHaT 100 W; 220/ 991 g8 T 60 W; 220 V 2,
fepeft ferega W = @ wrvdse | wAford € | A fergge smafd < decar 220 v R,
A gl Sost g faregd o & fopat et off sl 807

Show how would you join three resistors, each of resistance 9 Q so that the

equivalent resistance of the combination 18.(i) 13.5 Q, (ii)) 6 Q ?

(a)
(b)

OR
Write Joule’s law of heating.

Two lamps, one rated.100 W; 220 V, and the other 60 W; 220 V, are connected
in parallel to electric mains supply. Find the current drawn by two bulbs from
the line, if the supply voltage is 220 V.

ThTST o 3T o m fafgu | vg “fersft aream <1 fwuer saedars” < samen Shifsg
31 39 Ue a1 aid H enter shi =Tel o s o G4 i € o folu =51k TR | 3

YT

fopet i@ <1 &I & F1 AR 2 7 $HeT SI AT fARaT | i B 40 cm BIHH g4
T 3TN TG B TAT B 3T B 20 cm Iy Gl 1 8 ITT L @ 2 | 3 gHl
SIET <hl Tehfer 3 armrer ferfa |
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State the laws of refraction of light. Explain the term ‘absolute refractive index of a
medium’ and write an expression to relate it with the speed of light in vacuum.

OR

What is meant by power of a lens ? Write its SI unit. A student uses a lens of focal
length 40 cm and another of 20 cm. Write the nature and power of each lens.

8. Tr=fcfiga ==t uferat g wifera giaiat w1 9 a2 g 1w T forfigT | 3
(a) IR (b)) I () r=mE

Name the hormones secreted by the following endocrine glands and specify one

function of each :

(@) Thyroid (b) Pituitary (c) Pancreas

9. 3TAflrs S 3 AAftieh 99 & 9 Ush 3= fafgu | 37l S99 i el 37
At S A aTelt SRS # | fopEes gr1 S SfEiS o ITRefifadr % sTEhd
A AT B Tehdl & 7 3T I <hl gfee & foru ot Gifore | 3

Write one main difference between asexual and sexual mode of reproduction. Which
species is likely to have comparatively better chances of survival — the one reproducing

asexually or the one reproducing sexually ? Give reason to justify your answer.

10. (a) Toreft =meten, foreehl Smrepfa ar Stft 2, o1 wfaty fra swrent W fafe e 2, 33t
T ST |
(b)  =Tqu fererd < 3Te) wTeTeh a1 hiw Teed o1 Felleieh 41 Bld1 8 7 SR AT |
(c) Torega amom gfert & wraT=ra: fismqant w1 S i foRe SiTaT 8 7 R €T | 3

(a) List the factors on which the resistance of a conductor in the shape of a wire

depends.

(b) Why are metals good conductors of electricity whereas glass is a bad

conductor of electricity ? Give reason.

(c) Why are alloys commonly used in electrical heating devices ? Give reason.
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11. &9 91 21 & ? 89 9 S9 &I a9 F18d & ? S Sl o1 i i 9w foe |
T3 k1 S TGAT TR, qTfeh AT ST H Aifd S+ &, I7ehT Ioeid <hITT | 3

What is a dam ? Why do we seek to build large dams ? While building large dams,
which three main problems should particularly be addressed to maintain peace among

local people ? Mention them.

12. Toreft foemem & BT 3 WA-HeiA 91 § I8 F9ER g1 f6 fooett § % 1 &g Tda
IS ® AT 3R h3 MieAT 39 Hets ¥ g9 Wi | T o off St 2 T 3 E 3R
Sfthes ST 81 e | forereh welew 7 s o 7 oft 36t o w ==t <1 aen ol @ %8 B
T 1 &t @IS o foTe el | 31a: D11 3 & feregait 1 s feprett — et 78 2
1o ST ST B 3¢9~ A & IHeHT Y-a 1 T i, TUT GEU g foh i &R T &H A

HET I B | 3

(a) S BT EH I LA & IHeh T4 o & UGS |

(b) oot TR, 8 & HH HeT A= H o o7 FH F L THA § 7 @ foig G |

(c) 3@ wEm o fyreres welea 3 59 geaii & fower 0 sl o1 fien & s @ & qei i
ERUEEIE

Students in a school listened to the news read in the morning assembly that the
mountain of garbage in Delhi, suddenly exploded and various vehicles got buried
under it. Several people were also injured and there was traffic jam all around. In the
brain storming session the teacher also discussed this issue and asked the students to
find out a solution to the problem of garbage. Finally they arrived at two main points
— one is self management of the garbage we produce and the second is to generate

less garbage at individual level.
(a) Suggest two measures to manage the garbage we produce.

(b) As an individual, what can we do to generate the least garbage ? Give two

points.
(c) List two values the teacher instilled in his students in this episode.
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13. (a) ohTeH o SATrhIT AT foregd < Farrers R B 8 ? 3

(b) Toreht U8 Hqw AT T AT 3R IFeh! FLEHT SIS e e TAT] 91 o &9
T e feId Bid & | 38 Afireh o IUfRId Uehel 3Te2i <hl e fafau |

(a) Why are most carbon compounds poor conductors of electricity ?

(b) Write the name and structure of a saturated compound in which the carbon
atoms are arranged in a ring. Give the number of single bonds present in this
compound.

14. Terelt TrEett ® gHeR 5o & $® T ot 3WH 2 mL HifEaH gEgiTse 1 faerH
SIAT TR | et <l |l st i e W g A Icafrd g8 foreest werer e | qd
3G G & foere & yarfga feran men e 9 % gorgel 99 | 89 areft safifsma @
TR TUT 39 79 % TEEA W fore wherr fafau | afe =& a1g et yoat ame1 6 a3
Toretam & arfurfsren =Y, ot it i Icafsia erft SHeet Am fafaw | 3
7T

Tehlg ol TaTfese 3T AT ST & foTu IuInT fohu S atet fepefl et <61 pH 0 14 2 |
39 0T s TETHT qeT 38k i & fore yEmfyes adissr fofeu | saes < suai hi
il ST |

2 mL of sodium hydroxide solution is added to a few pieces of granulated zinc metal

taken in a test tube. When the contents are warmed, a gas evolves which is bubbled
through a soap solution beforertesting. Write the equation of the chemical reaction
involved and the test to detect the gas. Name the gas which will be evolved when the
same metal reacts with dilute solution of a strong acid.

OR

The pH of a salt used to make tasty and crispy pakoras is 14. Identify the salt and
write a chemical equation for its formation. List its two uses.

15. forsm (3ree) sfrfsranati § 31fiehrent ol died o fora a1 a1 SsAT 37ere Tenrer 3teran
Torega St bt STTaTwIshdT BT B | T FehR <ht forirer arfufsran, T S, wepmer 3
Terega St Y St Y STt 2, o foTe ush-ues Tt TR ferfan | 3

Decomposition reactions require energy either in the form of heat or light or electricity
for breaking down the reactants. Write one equation each for decomposition reactions
where energy is supplied in the form of heat, light and electricity.
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16. (a) TS BT T 3 m G T TEord vormag W for atemi o T 7 4w uTe | 9 o

o gfee -2 @ difsa & 3o @ forfaw | 39 g o wefea wror fafaw 3 gees
Tne i ferfer it e Hifs |

(b) R w1 femfenmd & 7 =mwen i | 5

COE

(a) THE ¥ & A= feu TU g Wit 1 S fefEu
() gaett, (i) oitariepT, (i) Reefm otm,  (iv) veamdt ufsmt

(b) AT G AT FA UG BT 2 7 R IS A 3| aftaeAr w1 e
AT T of L HhT B 7 319 IR H gfse o Torw sHrwr G |

(a) A student is unable to see clearly the words written on the black board placed at
a distance of approximately 3 m from him. Name the defect of vision the boy is
suffering from. State the possible causes of this defect and explain the method
of correcting it.

(b) Why do stars twinkle ? Explain.
OR
(a)  Write the function of each of the following parts of human eye :
(i) Cornea (ii) Iris (iii) Crystalline lens (iv) Ciliary muscles
(b) Why does the sun appear reddish early im:the morning ? Will this phenomenon
be observed by an astronaut on the Moon ? Give reason to justify your answer.

17. (a) @Rk fohegi Q1 31aal 1 oo il |

(b) IR H 3Tl - o Bl & T 1 9 ferfan |

(c) iferme 37t fera & sfiw aredt =1 %/ fef |

(d) Tt 3R FIRT o Feret o s 1S Tsh Hla-Tes 3= fafau | 5

COE

(a) oo hi aftam fafa |

(b) g H IJufeq uR} feie tee w1 A fafau |

(c) UME o IcEs ddf 1 MG TifaT 3 3T T I o b 3H HFT T ATHHA
£ -
() S AR FA R |
(i) T st AforeRt @ SR g & T3 G At B |
(i) TorEH g3 = % 9 yueTid war g |
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(a)
(b)
(c)
(d)

(2)
(b)
(c)

(2)

(b)
(@

(b)

(@)
(b)
(©)

(a)
(b)
(c)
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Mention any two components of blood.

Trace the movement of oxygenated blood in the body.

Write the function of valves present in between atria and ventricles.

Write one structural difference between the composition of artery and veins.
OR

Define excretion.

Name the basic filtration unit present in the kidney.

Draw excretory system in human beings and label the following organs of

excretory system which perform following functions :
(i)  form urine.
(i) is a long tube which collects urine from kidney.

(iii) store urine until it is passed out.

T "Gl S 7 < = feu 70 geieh v %1 i ferfan -
(i) 3TUETE, (i) SFEATfel, (i) THEE
AeT ! TTET 31 S 1 T H Ui it | 5

Write the function of following parts in human female reproductive system :
(i) Ovary (1) Owiduet  (i1i) Uterus

Describe in brief the structure and function of placenta.

AR T ST B T ffEy |

Torga et o1 iR g fafam |

forege e 3 9 few 7 s 301 w6 e |

(i) SR (i) (iii) forwe s 5
State Fleming’s left hand rule.

Write the principle of working of an electric motor.

Explain the function of the following parts of an electric motor.

(i) Armature (ii) Brushes (iii) Split ring
9 [P.T.O.
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20. (a) @fchaar 2oft & wed i GTg o IS TR A g T3 o Frswuur At fafyr
=Tt <! feafam |
(b) IR (ATE) F THIES I Y HIR T (s fFH TR fohar Srar 2 7 Fsspaur
o fafer= <o 1 smen vamtie Tt afgd Hife | i S faga srveeH
TiCsshToT ST AR 3TRE Wi | 5

(a) Write the steps involved in the extraction of pure metals in the middle of the

activity series from their carbonate ores.

(b) How is copper extracted from its sulphide ore ? Explain the various steps
supported by chemical equations. Draw labelled diagram for the electrolytic

refining of copper.

21, (a) 3MYHH FTad RO T T ST, =RIve YT HUSeI® & YR Tl &
ST E I 8 | $9 fH1 SATET i Ueh—Teh 3cied 3R Teh=Tsh HinT <hl T SIS |
(b) 38 STk o1 A ferf fora v e g 1% foreft o 6t qem] wen 3ue
Y] ST <hl e H STk ST IO ¢ |
(c) omyfh e fram fef | 5

(a) The modern periodic table has been evolved through the early attempts of
Dobereiner, Newland and Mendeleev. List one advantage and one limitation of

all the three attempts.

(b) Name the scientist who first of all showed that atomic number of an element is a

more fundamental property than its atomic mass.

(c) State Modern periodic law.
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Section — B

22. fordt aehl o TeoeToh T T o1 Nequl i o foTq STEATT STUT IR Rt <hl sk < =Tl
1 F=f 7413 | 2

List the steps of preparation of temporary mount of a leaf peel to observe stomata.

23. 4.0 cm A3 I HIg T 20 cm ®ihE gl o FFHl 3T fF & TR &5 ‘0" W
30 cm g W R @ | S ATt wfafers i feufa o wss [ w6 R s
it | 39 3@ | YR &g ‘O’ U1 T Bishd ‘F° 3ifeha Hifsre | wfafers i
Sarg 37 fora 1 Samg 1 ST 31guTa o 1 HIfC | 2

An object of height 4.0 cm is placed at a distance of 30 cm from the optical centre
‘O’ of a convex lens of focal length 20 cm. Draw a ray ‘diagram to find the position
and size of the image formed. Mark optical centre”*@’ and principal focus ‘F’ on the

diagram. Also find the approximate ratio of size of the image to the size of the object.

24. fordht wferiarss, faept fediyr (R) 2, & yafed foasga am (1) 3 39 {7l & o= qegedt
fIwaT=R (V) % 7 9 few o S1gEn d

V (diee) 05| 1001154202530/ 40| 5.0

T(U®RR) |01 ]02|03]04|05)|06]08] 1.0
o (1) 3R favar=r (V) & o= e difere 3t afatieges o1 gfade (R) 3 i | 2

The values of current (I) flowing through a given resistor of resistance (R), for
the corresponding values of potential difference (V) across the resistor are as given

below :

V (volts) 0510 15[20]25]|30/|40] 50

I (amperes) | 0.1 | 02 | 03 | 04 | 05 | 0.6 | 0.8 | 1.0

Plot a graph between current (I) and potential difference (V) and determine the

resistance (R) of the resistor.
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25. o1 Yerur TRt ST @ o9 et qrEaet # fou e sfem seiiige & fafema @ wmifsam
Hothe Taeram foeman stan 2 ¢ wferfea vemafies st s qarfes g qun ga
0T | B4 ST AR o Tehr 1 A fafau | 2

What is observed when a solution of sodium sulphate is added to a solution of barium
chloride taken in a test tube ? Write equation for the chemical reaction involved and
name the type of reaction in this case.

26. 3THIET % S hl AT o1 A fARGT | 39k S bl Ufshan o fofir=1 =ron <6l 3f=a wa
T fafa hifsa | 2

YA

HIg B A § Pt g 3TcifiTeh S o T =on shi Tt TTse <l Hawestt gl
TeI0T KL TET ] | IE W3S | S o Y&A07 h{dT & 30 3G Eieht (shHTR) SITST |
Name the process by which an amoeba reproduces. Draw. the various stages of its
reproduction in a proper sequence.

OR

A student is viewing under a microscope a permanent slide showing various stages
of asexual reproduction by budding in yeast. Draw diagrams of what he observes.
(in proper sequence)

27. Tt BF 3 < WAl A 3R B # 0T T¢I dothe aUT HIRW Tothe o TeA
Frerert 3 YRR oTTq % &GS T | S 35 R AT S C 39 D e
e fore Tu vt gothe 3R HIR Hothe % ol faeAl § e u1g % 3
Tt | fore sreran fort ogaforat § 39 BT 1 T § ufadH fo@m am 7 39 T % en
W Iooig SHITTT 6t i ot arg Fariferes tfirfsrarsficr @ s | 2
A student added few pieces of aluminium metal to two test tubes A and B containing
aqueous solutions of iron sulphate and copper sulphate. In the second part of her

experiment, she added iron metal to another test tubes C and D containing aqueous
solutions of aluminium sulphate and copper sulphate.

In which test tube or test tubes will she observe colour change ? On the basis of this
experiment, state which one is the most reactive metal and why.
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